
Math 122 - Test 2 Oct 25 2012

Question 1:

(a)[2] Determine
d

dx

[
∫ 1

0

e
arctan (x)

dx

]

.

(b)[2] Determine

∫ 1

0

d

dx
[earctan (x)] dx .

(c)[2] Determine
d

dx

[
∫

x

0

e
arctan (t)

dt

]

.

(d)[4] Determine

∫

sin (
√

x)
√

x
dx .
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Question 2:

(a)[4] Determine

∫

(t − 1) ln (t) dt .

(b)[6] Determine

∫

e
−x cos (x) dx .
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Question 3:

(a)[7] Evaluate

∫ π/2

0

sin3(x) cos3(x) dx .

(b)[3] Determine

∫

cot (πx) dx .
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Question 4 [10 points]: Determine

∫

128

x3
√

x2 − 16
dx .
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Question 5 [10 points]: Determine

∫

1

x3 + 9x2
dx .
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